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What is the product?
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The length of a rectangle is x - 2. lts area is 2x - 4. What
is the simplified expression for the width?
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‘What is the quotient?
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Simplify. State the excluded values.
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Your friend runs for (x - 225) seconds at g rate of) 530
meters per second. How far does your friend run?
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‘What is the solution of each equation? Check your solution. What is the solution?
i S A x-3 1 1
/0)( Bx  2x 2) X I(X:!‘i) = (X’5X)(,'i-l\)
x+1 X+1 e —_—
Y| X |

20X 10x _ _ 10x

—_— e =

% 2« 2

4-5=-5¢
_.l=—53_(

< -3

\(:JS/

=53
k=




You can make one batch of cookie dough in an hour and your
brother can make a batch in 42 minutes. How much time does it
take you to make a batch of cookie dough together?
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